C:# Examining Digit Place Value Name:

Solve each problem. Answers
1) Which choice has a 7 with the value of 700 or 7 hundreds?
A.3.179 B. 782 C. 827 D. 7,469 b
2.
2) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 38,529 B. 52,831 C. 85,497 D. 79,815 3
3) Which choice has a5 with the value of 50,000 or 5 ten thousands? 4,
A. 96,254 B. 86,475 C.57,912 D. 41,537
5.
4) Which choice has a 3 with the value of 30 or 3 tens? ]
A.513 B. 381 C. 132 D. 73 B
7.
5) Which choice has a5 with the value of 500 or 5 hundreds?
A. 7,853 B. 654 C.951 D. 564 8.
6) Which choice has a 9 with the value of 9,000 or 9 thousands? °©
A. 37,928 B. 9,482 C. 7,938 D. 5,931
10.
7) 'Which choice has a 8 with the value of 80,000 or 8 ten thousands? "
A. 976,281 B. 84,729 C. 834,957 D. 47,568 '
12.
8) Which choice has a 2 with the value of 20 or 2 tens?
A. 162 B. 824 C.32 D. 32
9) Which choice has a3 with the value of 300 or 3 hundreds?
A. 8,653 B. 3,546 C. 2,369 D. 3,647
10) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 3,875 B. 4,682 C. 5,813 D. 8,156
11) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 93,278 B. 517,384 C. 26,785 D. 72,841
12) Which choice has a 9 with the value of 90 or 9 tens?
A. 149 B. 974 C. 296 D. 948
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 7 with the value of 700 or 7 hundreds?
A. 3,179 B. 782 C. 827 D. 7,469

2) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 38529 B. 52,831 C. 85,497 D. 79,815

3) Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 96,254 B. 86,475 C.57,912 D. 41,537

4) Which choice has a 3 with the value of 30 or 3 tens?
A.513 B. 381 C. 132 D. 73

5) Which choice has a5 with the value of 500 or 5 hundreds?
A. 7,853 B. 654 C.951 D. 564

6) Which choice has a 9 with the value of 9,000 or 9 thousands?
A. 37,928 B. 9,482 C. 7,938 D. 5,931

7) 'Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 976,281 B. 84,729 C. 834,957 D. 47,568

8) Which choice has a 2 with the value of 20 or 2 tens?
A. 162 B. 824 C.32 D. 32

9) Which choice has a3 with the value of 300 or 3 hundreds?
A. 8,653 B. 3,546 C. 2,369 D. 3,647

10) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 3,875 B. 4,682 C. 5,813 D. 8,156

11) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 93,278 B. 517,384 C. 26,785 D. 72,841

12) Which choice has a 9 with the value of 90 or 9 tens?
A. 149 B. 974 C. 296 D. 948

Answers
1 B
2. A
3 C
s, C
5 D
6 B
7 B
8 B
9. C
0. D
11. D
12. C
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